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QUESTIONS 1.1.4 AND 1.1.5 ARE BASED ON THE TIMELINE BELOW
SHOWING THE POSSIBLE EVOLUTION OF SOME HOMINIDS.

Australopithecus
afarensis Homo erectus

4 3 2 1 0

Ardipithecus Homo Homo
ramidus habilis sapiens

114 Which species inhabited the Earth for the longest period of time?

Australopithecus afarensis
Homo erectus

Homo habilis

Homo sapiens

o0 w>»




image8.png
How many years ago did the genus Homo first appear?

A

B
C
D

2,2 mya
2,0 mya
1,6 mya
0,2 mya
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1.2.3 The type of evidence for human evolution that includes tool-making
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126 The opening in the base of the skull through which the spinal cord
passes
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3.1

The diagrams below show the upper jaws of some fossils. These diagrams
are drawn to scale.

3.11 Describe ONE visible difference between the jaw of a chimpanzee
and that of Homo sapiens which show trends in human evolution.

3.1.2 Based on the differences in dentition, what conclusion can be
made about the change in diet from Australopithecus afarensis to
Homo sapiens?
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Australopithecus may be described as a transitional species
between the chimpanzee and Homo sapiens.

(a) Define a transitional species. 1)

(b) Use ONE visible feature of the jaw to explain why
A. afarensis may be described as a transitional species. (2)
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124 An upright posture and walking only on two legs
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1.2.9 Family to which humans belong
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1.3

Indicate whether each of the statements in COLUMN | applies to A ONLY,
B ONLY, BOTH A AND B or NONE of the items in COLUMN II. Write A only,
B only, both A and B, or none next to the question number (1.3.1 to 1.3.3) in
the ANSWER BOOK.

COLUMN | COLUMN Il

1.3.1 Feature of chimpanzee skulls [A: Prognathism
B: Forward position of foramen
magnum

and African apes B: A short and wide pelvis
'Little Foot' B: Ron Clarke

(3x2)

(6)
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3.1

Scientists use fossils as evidence for human evolution. The brain volume of
some extinct primates has been estimated from their fossils and have been
compared to the brain volumes of living primates.

The results are shown in the table below.

PERIOD OF AVERAGE BRAIN
EXISTENCE VOLUME (cm?)
(million years ago)
Australopithecus afarensis 4t02,7 450

Australopithecus africanus 450

Homo erectus 2t004 1000
Homo neanderthalensis 0,3t00,23 1500
Homo sapiens 0,2 to present 1400

0,2 to present 500
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Apart from fossil evidence, give TWO other types of evidence for
human evolution.

Which primate became extinct first?
The brain of an organism is not preserved as a fossil.
How do scientists determine the brain volume of extinct primates?

Calculate the difference in brain volume (in cm?®) between the two
living primates. Show ALL calculations.

Give evidence in the table that suggests that:

(a) Homo habilis and Homo erectus may have existed at the
same time

(b) Ardipithecus was the most primitive of all the primate genera

@)
(1)

@)

@)

(1)
(1)
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Scientists find evidence for human evolution by comparing humans to other
hominids. The upper limbs of humans and African apes show similar
characteristics, whereas there are differences between the dentition (teeth) of
the two.

331 Why do scientists look for similarities between humans and African
apes?

332 Explain the importance of the positioning of the thumbs for humans.
and African apes.

333 State ONE difference between the teeth of humans and African
apes.
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34 The diagram below represents one model of the evolution of some hominids.

Most recent Homo sapiens

4
\—'—I Homo florensiensis

Homo heidelbergensis

‘Homo erectus

Species X
(used stone tools)

‘Homo rudolfensis

Earliest Australopithecus africanus
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34.1
342
343

344

345

346

347

Identify the type of diagram shown.
How many genera are represented by the diagram?

Name the species:

(a)  Represented by X on the diagram

(b)  Thatshares a common ancestor with Homo erectus

Which species of the genus Homo is the only one in existence
today?

Name TWO forms of evidence that would have been used to
support the information in the diagram.

The average cranial capacity of Homo sapiens is 1500 cm®
compared to 520 cm® in Australopithecus africanus.

Explain the significance of the difference in cranial capacity.

Explain how the fossils of Australopithecus africanus, Species X
and Homo erectus are used to support the ‘Out of Africa' hypothesis.
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Which ONE of the following refers to a gradual change in the
structure of organisms over time?

A Natural selection
B Mutation

C Evolution

D Speciation
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1.24 Genus to which Little Foot and Mrs Ples belongs
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3.1 The diagrams below show the skulls of two species of primates.

Skull 1 Skull 2

3.1.1 Tabulate THREE observable differences between skull 1 and

skull 2 that show trends in human evolution. )
3.1.2 Give FOUR characteristics of the upper limbs that humans share

with other primates. 4)
3.1.3 Explain how an increase in cranial volume is related to intelligence. 3)

(14)
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3.2 Humans are bipedal organisms.

3.21 What is meant by bipedalism? (2)

3.2.2 Explain how each of the following skeletal structures have
contributed to bipedalism in humans:

(a) Foramen magnum (2
(b) Pelvic girdle (2
(c) Spine (2)

(8)
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What is the scientific name of the fossil, Mrs Ples?

Homo erectus

Homo habilis
Australopithecus africanus
Australopithecus afarensis

oOw>»




image6.png
Which ONE of the following is a structural feature of a bipedal
organism?

Long, narrow pelvis

Short, wide pelvis
C-shaped vertebral column
Longer arms
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